68Zn

Z =30

N = 38

adopted link

ENSDF link

Based on ENSDF from Oct 2022, and mass evaluation from 2020
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595.386 ( 0.001) MeV
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STABLE

1.61 PS 2
96 PS 16
1.01 PS 5
0.31 PS 3
0.73 PS 7
0.257 PS 6
0.15 PS 3
0.28 PS  +14-8
22 FS 6

6.1 FS 16
45 FS +17-14
62 FS 10
2.5 NS LT


http://www.nndc.bnl.gov/ensdf/getadopted.jsp?nuc=68Zn 
https://www.nndc.bnl.gov/ensdf/
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3+,4+
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(2+)
1,2+

1,2+
(1,24)

45 24 FS +8-6
46 0.16 PS  +15-6

55 62 FS +21-17

68 12.0 FS +43-25

77t 7.0 FS  +29-16



5.333 ( 0.001)---

| |  4.587 (1+,2+) 84
| |  4.608 (1-) 85
| | 4.642 1,2+ 86
| | 4.656 2-,3- 87
| |  4.670 (1,2+) 88
| |  4.680 89
| |  4.724 1+,2+ 90
| |  4.733 1,2+ 91
| |  4.743 2-,3- 92
| | 4.792 93
I | 4.851 2-,3- 94
| | 4.858 1,2+ 95
| | 4.866 (9-) 96
| |  4.873 2-,3-,4- 97
I | 4.911 1,2+ 98
| |  4.951 1-,2-,3- 99
I |  4.963 100
| |  4.982 101
I | 4.992 1,2+ 102
| | 5.019 - 103
| | 5.120 - 104
| | 5.146 105
| | 5.162 106
| | 5.188 107
| |  5.200 2-,3- 108
| | 5.283 109
| | 5.298 1-,2+ 110
| | 5.307 - 111
| |  5.400 112
| | 5.403 1,2+ 113
| | 5.415 1,2+ 114
I | 5.420 115
| | 5.565 116
| | 5.610 117
| | 5.635 ) 118
| | 5.694 119
| | 5.860 - 120
| | 5.991 (11-) 121
| | 6.760 - 122
| | 7.110 2-,3- 123
| 7.362 1- | 124

0.240 FS +14-12

9977 ( 0.001) mmmmm oo

10.198 ( 0.001)---




S-2p =
S-2n =
S-alpha=

S+p

S+n
S+2p
S+2n
S+alpha

gap p

gap n

gap 2p
gap 2n
gap alpha

18.579 ( 0.002)

17.251 ( 0.001)---
5.333 ( 0.001)---

= -6.610
= -6.482
= -15.133
= -15.700
= -5.004
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